
,,,r,:ition :- 3 Hrs

Note : L) All Questions are cornpulsory.
2) Each questions carries l?O Marks.

, : - \,Vrite any TWo Questions :

ril lr,xplarn the Larv of trqui - Margina-l Utility.
l-,) Explan the Income Bffect.
r:) Ilxpladn consllmer's equilibrium with ttre help of an indifference cllrve.

.-:..1. Write any TWo Questions :

aj fixpl:un thc Critical Evaluation of the Revealed Preference Theory.
b) li,,rplain the l,arw of Returns to Scale.
r') Erplarn isoqrlants & their properties.

r.i ,'i" Write any T\ro Questions :

.-r) Drpleun ttre Short Run Cost Curves.
ir) \,Vhat is revenLte? trxplain the relationship between TR, AR & MR curve

urrrder perlect competition.
r 1 l-o1u. run Cost Cttn e is similar to Engli:;h Alphabet 'U'? Explain.

: r Write any T\xro Questions :

r,-r1 Explarn thc Short Run Equilibrium of a firm under perfect competition
ir1 trrplzun the Characteristics of a perfect competition market.
ci Discuss the concept of Producer's Strrplus"

,;-r;. Write any Two Short Notes :

a) Concepts of Cost.
hl Nlarket Failr-rre"
r:) 'l-vpes of Costs.
rl) lnlernal Economics of Sca-le

e-qt6rrpl"g Maximum Marks : lOO
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